XI-A,B  SOLVED PAPERS Virtual Class-1 [Year]

3. A balloon is filled up 170 g Nitrogen gas and when it goes to the bottom in the sea it's volume
turns half. Surface pressure in sea, air pressure and temperature 35°C and bottom level
temperature 15°C. [Density of water is 1025 kg/m”, g=9.8m/s?, R=8.314J/mol/K]

a. What is rate of independence? 1
b. What do you mean by dew point temperature at any place is 18"C? 2

¢. Determine the kinetic energy of the Nitrogen gas at the sea surface. 3
d. Whether it is possible to determine the height of the lake by considering the change of
temperature, Analyze mathematically. 4
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2. Four tuning forks arc labeled as A, B. C. and D. The density of the material of tuning fork A is
1.4kg/m’ having frequency 260 Hz and produces sound wave of amplitude 0.5m and velocity
355 m/s in air. Fork-A produces 2 and 6 beat with B and D respectively. B produces 4 beat
with D. B and D both produces 3 beat with C.

a. What is stationary wave? 1
b. Explain, the effect of a resonating substance presence on the intensity of sound. 2

_ ¢. Calculate the intensity of sound produced by Fork-A. 3
d. Unknown frequency of tuning fork can be determined by counting beat" Mathematically
verify the statement by calculating the frequency of C. 4

D I, c2AE AN
Tgxﬁ’*"x(ﬂcz-(bt’xi'wﬂ”)ﬂxI'HX,%?S}
= 66X10% WANF

Dt c2e0th — @
A-/@g:. o :% + ), $p=25¢K o 261 ph —%t

!’fl:fﬁje ; ,{-pzl-f{fh{a Y 2{,;/&______@
/}_,_g]».-—}x«, R P-/;M U beaA— pvi4~ D,

e /ﬁ?p — -}:-‘3 T 4
o, R ord D ko7h FJJJLA-/(C $ 32 bed rith e

A B =fp+ ¢ o Bo=lwe
. _ Se+fp
Fe =

-

Vs, | -
2 P e @
Fr = A28 POl o 2Lt Zg
72 - T z—
=254 o 26l H

5% %“J'f;f Yorle 2 frequen e
Fo-Axle.
gﬂ; A QMW ;5 /\@/(a A '(YIEC}




XI-A,B  SOLVED PAPERS Virtual Class-1 [Year]

I. In laboratory Dip hangs 15kg mass at the end of the wires of Sm length and 0.6 mm diameter.
One wire is steel and the other is lgad. After hanging the mass he finds the extension of
length of both the wires 0.022m and 0.3325 m respectively [Y, =2x 10! Nm]

a. What is binding energy? 1

b. What is the relation between inter molecular force and inter molecular distance? 2
¢. Determine elastic potential energy of the steel wire with expanded condition. 3
d. Which wire has the higher ability to carry load: Analyze mathematical 4
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